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02 a2 x4 18,120 0 18,120
(OFSE= 3| 18,120,000 18,120
03 EFF A 16,320 16,320 0
OEZYR=dEZH| 14,400,000 14,400
OR=YREY S 1,920,000& 1,920
206 M= Hl 6,950,217 6,524,306 425,911
01 M2 8l 6,950,217 6,524,306 425,911
ARABA FEAYH L BIFX YY)
6,943,217,000& 6,943,217
Odx= bl (g2d&el2€2) 7,000,000 7,000
207 O & H| 42,000 22,000 20,000
01 2284 42,000 22,000 20,000
OXNgadx=E SESAE 2249 42,000,000 42,000
301 et a = 2,000 2,000 0
MIIEEd= 2,000 2,000 0
OR¥s+ MY ZH= 2,000,000& 2,000
401 AIEHI L 20HYI 800,000 620,000 180,000
01 A& HI 800,000 620,000 180,000
O2ta X = 120,000, 000& 120,000
O &l & S AtHI 660,000, 000& 660,000
OMNEZSAHl & 2= XM Hl 20,000,000 20,000
402 2I2H X201 M 7,696,806 6,742,875 953,931
03 212t &AL S HI 7,696,806 6,742,875 953,931
O=Z2 & 22Ut 7,696,806,000& 7,696,806
B =7 ST AL 400,000 900,000 A500,000
401 A& HIZ 201 Y] 400,000 900,000 A 500,000
01 A& HI 400,000 894,330 A 494,330
Otl==+9 SFAY 400,000,000& 400,000
Sx7Y SEAY 402,880 1,924,000 A 1,521,120
401 Al BIZ 201 8] 402,880 1,924,000 A 1,521,120
01 A& HI 400,000 1,924,000 A 1,524,000
ST Y SAM 400,000, 000& 400,000
03 Al 2 THHI 2,880 0 2,880
ST AEESAM 2,880,000& 2,880
ol gl gl 200,000 170,000 30,000
801 GilHI bl 200,000 170,000 30,000
01 erolli bl bl 100,000 70,000 30,000
O=URRXZE LBtoldibl 50,000,000 50,000
OXN=AXZE LEHldibl 50,000,000& 50,000
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02 THoH - TH<H= &0l Hl bl 100,000 100,000 0
O=+=2AXXZ= Mol - M= 0l b
50,000,000& 50,000
OX=2FXZ= Mol - HHSH 0l
50,000,000& 50,000
SHE M2+ HEAY 869,000 1,143,000 A 274,000
Xl 608,000
Al 261,000
401 A& HIZ 201 I 869,000 1,143,000 A 274,000
X 608,000
Al 261,000
01 A& HI 869,000 1,138,890 A 269,890
OsHEMEEZIHEAS 869,000, 000& 869,000
Xl 608,000
Al 261,000
HHE2IAZH (AL == 0H)(JIEH/IIE) 709,244 734,909 A 25,665
AR AH (M) (AT AISSESIH) 709,244 704,909 4,335
ol 2A| 709,244 704,909 4,335
101 @144 Hl 653,167 631,929 21,238
01 2= 653,167 631,929 21,238
oJe=s 460,955,000& 460,955
o824 30,665,000& 30,665
oxzuz2ex¢ 43,860,000& 43,860
(OFSEEs) 117,687,000& 117,687
303 &3 31,663 31,663 0
02 4&03 31,663 31,663 0
OHUANHS 31,663,000 31,663
04 ASRE=S 24,414 23,737 677
02 SCALEES 24,414 23,737 677
O=RALBEHRYES 24,414 ,000& 24,414
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SN EE B (BH) - HRAY - BES e Hl D= 2t
&k o
ot T AL & ,697,168 9,877,660 819,508
BHII=ANE 22 (BBES/MoxE - E) ,086,739 ,386,004 700,735
Staxel el (st MG SE3 ) ,086,739 , 386,004 700,735
33ot=HM2AE 22 ,337,739 ,070,724 AT732,985
201 L2l 228,239 220,435 7,804
01 At 22l 100,419 196,235 A 95,816
Oot=xeld 24l 100,419,000& 100,419
02 =524l 127,820 24,200 103,620
Oo0tsdt=xXeld 232gl 21,720,000& 21,720
OZ3Zot=HaldE =523l 106, 100, 000& 106,100
206 = Hl 127,000 127,000 0
01 =8l 127,000 127,000 0
Qo= 288 37 2 2,000,000& 2,000
Qdt=% B MNP 15,000,000 15,000
©FRIPNE=4:]l 38,000,000& 38,000
O EHl 72,000,000 72,000
207 A RO H| 136,600 296,000 A 159,400
01 289 136,600 296,000 A 159,400
O EZEZBotXlAlE B2t E g0 &It
9 10,000,000& 10,000
OANEESBotHMANE(BR) JIs&C
120,000, 000& 120,000
ONMETTo+HANE L SHEIY =3
2t Bl Z2 AL EZ3EY 6,600,000& 6,600
307 21201 A , 794,000 ,560,000 234,000
05 RIZHRI & 3 , 794,000 ,560,000 234,000
OEZEBotXElAE Q2AE 2|
149,500,000& * 12& ,794,000
401 Al B2 28I ,051,900 ,570,900 A519,000
01 A& HI ,051,900 ,570,900 A519,000
Oot=k 28 & 2+=HE WH
330,000, 000& 330,000
Oot=x 2=&4d 180,000, 000& 180,000
o=l 1,872,000,000& ,872,000
O =« WA Yl 1,669,900, 000& ,669,900
230ot=HMal Al &2 ,589,000 ,315,280 1,273,720
401 A& BIZ 201 8] ,470,000 , 133,780 1,336,220
01 A& HI ,470,000 , 130,000 1,340,000
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OHMEZZIot=HelAlE Bt EX £3J Al
S A 200,000, 000& 200,000
@é‘“&".ﬂ._ggﬁf—rﬂal/\l’“ SHSAHABZZE MCC
Moiet WA 160,000, 000& 160,000
OUMEZICtrHMelAIE SUSHEZE 25
AHl W3 A 350,000, 000& 350,000
OMBISIot=HelAE F&E=I] XS A
650,000, 000& 650,000
OMBEZSIot=XelAE =& & & sdX=
gl 288 =&duH 84,000,000& 84,000
OANESIot==HelAlE BtSX W WHS
At 176,000, 000& 176,000
OANESEotsHelAE AL SEX HEY
S A 500,000, 000& 500,000
ONMFZ AAIBIBot=+=HElAlE MSAE X
SO X 50,000, 000& *2H 4 100,000
405 XHobF S HI 119,000 181,500 A 62,500
01 AL ESFH S 119,000 181,500 A 62,500
OLNLHMAI FM(MESSdt=HelAL)
10,000,000& * 1CH 10,000
OMS =Xl2tel Xtg <204 20,000,000& = 104 20,000
Odu) FA(ES AAMISSdHlAE
SHMEA W) 15,000,000& * 2CH 30,000
OWHY) FU(SS 4TI Zot=HelAld
™S E2as0]) 10,000,000& * 2CH 20,000
OANUEY PA(AMA . MEZIIot=HElAlL)
5,500,000& = 2CH 11,000
O+24 AFEEH FL(LAH)
5,000,000 +5CH 25,000
OAY H&ED FU(MAEELIISI+HElAL)
3,000,000 = 1CH 3,000
ot=5 Olat HE 2el 160,000 0 160,000
801 Gl HIbl 140,000 0 140,000
1 ol 70,000 0 70,000
oot 70,000,000& 70,000
02 THaH - THE=Zolidl ] 70,000 0 70,000
OXERXE0UHl oldlyl 70,000,000& 70,000
802 BtEt= DI EF 20,000 0 20,000
03 Ug=3s 20,000 0 20,000
oOMEE gz e 20,000,000& 20,000
WRES(G+EALL)(BARS /A4 - 2 7) 25,000 23,000 2,000
WEAHANXE (St AL S LS AH) 25,000 23,000 2,000
=DJI=E-PNRCE-$= 25,000 23,000 2,000
701 JIEtEI HSEES 25,000 23,000 2,000
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02 BIISELIHIYHES 25,000 23,000 2,000
Oot=TAIEE RIEE S =2 25,000,000& 25,000
HH2HZHI(Sh==S AL 2 ) (DIEHIIEL) 1,585,429 1,468,656 116,773
ARAHI (St AL SE3IA) 1,291,941 1,229,942 61,999
el 2gl 1,291,941 1,229,942 61,999
101 1Al 1,267,821 1,207,742 60,079
01 2= 79,441 71,030 8,411
oxu=2=g 79,441,000& 79,441
02 JIEt & E = 12,792 12,792 0
OxU2PH(HYZE) 12,792,000& 12,792
03 I AHAAx2 22+ 1,091,728 1,005,113 86,615
OF A2l 2 36,753,000& 36,753
O33ot=XelAE 22 URY
1,054,975,000& 1,054,975
04 JIANZ22XSE* 83,860 118,807 N 34,947
O33ot=XHelANE 2ERA AFY
83,860,000 83,860
204 MM FH| 24,120 22,200 1,920
03 SFYRZH 24,120 22,200 1,920
OSHIR=AFH| 24,120,000& 24,120
Jl2ddl (=S M SESIAH) 293,488 238,714 54,774
=234 293,488 238,714 54,774
201 L Er2A | 161,788 150,574 11,214
01 At 22l 8l 128,224 120,774 7,450
O AR 22l 81,424,000& 81,424
O=&Hl 29,200,000 29,200
o=l 17,600,000& 17,600
02 3324l 33,564 29,800 3,764
oss2= 33,564,000 33,564
202 o4 Hl 93,400 80,920 12,480
01 SLHO I 91,400 78,920 12,480
O 22AEZ I 91,400,000& 91,400
05 3R& W04 2,000 2,000 0
Ous=gl 2,000,000& 2,000
203 ¥R =&l 10,000 7,220 2,780
02 3 Jtatg R =& 800 1,520 AT20
OXJ A &= 800,000& 800
03 Al =&Y 2= 5,000 0 5,000
Odt=CT ALY ANHPRFT 5,000,000& 5,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 FN2ELRZ=TH| 4,200 5,700 A 1,500
ORNM2YE FSF2HI 4,200,000& 4,200
206 M= Hl 8,300 0 8,300
01 X2 bl 8,300 0 8.300
=S=HSI Wbl 150, 0002 *107H & 1,500
OZAE EXOelZE A&l & =2l
6,800,000& * 14 6,800
207 O & H| 20,000 0 20,000
01 2284 20,000 0 20,000
OGt=SELE3| A X&THEI 224
20,000,000 20,000




